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{1) ’ﬂy = sinh 2xcll -3i-= S
219 y = cos(2x + Dl Y= oo

@Ay = o~ Al w@A et wds =...... B,

a) w3 waa WG Ycllal ds r=3+3cosd Cardiod B?

{5} _[05 €087 X AX= v
(6) %\ 7 = a(l — cosf) & 15= cn
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(6) Express the point {—/3, 1) in polar form.
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(8) ass = Basin®(3) o ATUR Wlg AR csctBeu Wl
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(11) R u= e* cosy; v = e*siny cll x llul .
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Q.1 Answer the following by selecting correct chaice from the options : {10}
{1) coshx + SinhX = e
(a} e* (b} e {c) 1 (dy -1

(2)ify = (ax +b)""then ¥y = e

(-0"nt g”
(@) (ax+pyntt (b} {ax+by"
Nfy= M5 then 32 = e
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My =2 then Y -intercepts 15 ...
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{5} If eccentricity e = 1then CORIC IS crrnms

(-)"nla®
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() @iy (d) WNone of these

{©) Tz : (d}  None of these
{c) 4 {(d}y -4

{a)}  Hyperbola {p)  Parabola {c}  Ellispe {(d) Circle

(6) The curve of r = cos28 is symmetric about ...

{a) Polar axis {b) Normal

(" .[;%sin3 X AX = e
@ L w

(8) If Jn= [ tan™ x dx then j S——
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axis (¢} Pole {d) Polar axis, Normal axis and Pole
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(@} fu = x? — 3xy“then 75 = e
{ay —6x {b) 6 {c} 6x g -6

(10} 1f z = 3x%y — 4xy* is a homogeneo

{a) 2 (b)

us function of x,y then degree of 2 = cuneeer

1 {c) 3 {d) 4
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Q.2 Do as directed.
= «f ay _
(1) #f y = sinh 2x then oy =
{2) ¥y = cos(2x + 1) then Vi © v,
2 . .
{3)fy = ¥ 3= then horizontal asymptote s ........

{4)True or False: is the polar curve r =3+ 3cos@ Cardiod?

T
5}z cos” x dx= ...

(6)if r = a(1 - cosf)then ry = ........

NHu= %~ then x EE-!-]/ N

(8} True or False: Is flx,y) = ‘/_

“F homegeneous function of degree — 5—.

Q.3 Attempt any Ten,

{1) Evaluate: lim,,,(a — x) tan (Sux)

(2) ify = %* cos(5x) then find Vs

(3) Fy = ™ —Jog(7x — 5) then find V3.

2 2 2
{4) Find parametric equation of x3 + y3 = g3,

{5) Discuss symmetries of the curve xy = 16,
(6) Express the point (—y3 + 1) in polar form.

{7} Evaluate : folxs sin“Tx dx .

{8) Find the radius of curvatyre of any point on the curve s = 8a sinz(-::).

T
{9) Evaluate : Ji cos®(2x) sin*(4x) dx .
(10) Define : Homogeneous function.

(11) ifu = > €osy ;v = e*siny then find x.

(12)fu = f(x - -V.¥—zz— x)thenfndau+au+

Y
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Q.4 Atterapt any Four. [32]
(1) State and Prove Leibniz's theorem.

ae¥—2bcosx+ace”* _ 2

(2) Finda, b, ¢, sothat imeno =y

{3) Discussintercepts, symmetries , asymptotes, sign of function and hence sketch

the curve y = x3 — 3x% + 2.

. — pe
{4) In usual notation prove thatr = Ttecosd "

(5} Obtain Reduction Formula for [z sin™x dx, wheren € N.

3
22
(6) In usual notation prove thatp = ._.—-—(”:1 2
2

{7) State and Prove Euler’s theorem for z = f(x,¥).

(8) 1fz = f(x,y),x =7cosd,y = rsin8 then prove that [gi 24 [%}2 = [g;}z + ;1-2- [% 2
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